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Mathematics 10
6.1ab Review mg/

1) Which lines is the point (-1,2) on?

a)3x-6y=-7 b) x=5 c) y=3x++ d) y—2=2(x-3)
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2) For the following slopes, write the slope that is parallel to it. ,
ajm=1 bym=0 c)m=3 djm=-3 ejm= -3
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3) For the following slopes, write the slope that is perpendicular to it.

aym=1 b)m=0 cjm=3 dym=-3 ejm= -3
My = - my = - -x m = L .}
L 1= my= -1 1= 3 my= 3
4a) Determine the slope of each line that
i) passes through A(—4, 7) and B(6, 3) i) is given by the equation 5x -2y +7=0
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b) Are the lines in part a parallelé)erpendiculaﬁ or neither? -
5) A linear function has f(3)=-7 and f(-2)=18.
a) What is the slope? (3, _:ﬂ (-2, |Q,) b) What is the equation of this line in point-slope
% Y X3 Y2 form? (Give 2 answers)
Y-Yy = wm( X-%,)
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¢) What is the equation of this Iine)in slope-intercept form?
wsin 5+‘-l = -5(x-3 e ;_
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6) A line has x-intercept 15 and y-intercept 21.

a) What is the slope of this line? b) What is the equation of this line in slope-
intercept form?
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7) Write the equation of the line in

a) slope-intercept form b) point-slope form (don’t use y-intercept as a
point)
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8) Write the equation of the line in
a) point-slope form ( 4 p\yﬁwers) b) slope-intercept form
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9) Graph each line. 3
a)y—2=-2(x+3) b)2x—-5y+10=0 c)y=-=x-2
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10) Write an equation for the line that passes through E(4, =3) and is

a) perpendicular y+1=—-3(x—-4) b) parallel to 3x -4y =12 L o
= -8 g solve Yy Yo get in y=mxto 0om
m=g e :" 3‘) Ry atiges slope
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11) Write the equation of the line that passes through (-2,12) and (5,-3) in slope intercept form and

point-slope form. Y Yy 2
U A A ol L N Y +3= "2 (x-5)
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12) A line goes through (-2,10) and whose slope is —% . What is its y-intercept?
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13) A line goes through (-2,10) and has y-intercept 99. What is its slope?
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14) Write an equation for the line that passes through S(-13,1) and is: /’f:>

a) parallel to the line y +8 =-5(x+8) b) perpendicular to the line %x—%y<=l2.
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e) parallelto y =3.

c) parallel to x=-10
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15) Write the equation of the line that is perpendicular to 3x—4y =10 and has the same y-intercept as

y—7=f‘7(x+23). L)So(ve for So in mx+b f’o-»m
solve for y s Tn mx+b form then  get my
then can” get 7b’ (g-ir\‘t) ~
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16) A line goes through the points 4(-1,-5) and B(3, y) with slope —3 . What is the coordinate of B?
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